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6HWLDS� SHUXVDKDDQ� PHPLOLNL� YLVL� GDQ� PLVLQ\D� PDVLQJ�PDVLQJ�� XQWXN� GDSDW�

PHQFDSDL�YLVL�GDQ�PLVL�\DQJ�GLPLOLNL�SHUXVDKDDQ�PDND�GLEXWXKNDQ�VXPEHU�GD\D�PDQXVLD�

\DQJ�GDSDW�EHNHUMD�VHVXDL�GHQJDQ�IXQJVL�MDEDWDQQ\D�GDQ�PHPLOLNL�NXDOLILNDVL�\DQJ�VHVXDL��

ROHK NDUHQD� LWX� GLSHUOXNDQ�SURVHV� UHNUXWPHQ�GDQ� VHOHNVL� VHEDJDL� JHUEDQJ�XWDPD�XQWXN�

PHQGDSDWNDQ� VXPEHU� GD\D�PDQXVLD�� 3URVHV� UHNUXWPHQ� GDQ� VHOHNVL� GLVXDWX� SHUXVDKDDQ�

DGDODK� KDO� \DQJ� PHQDULN� XQWXN� GLHYDOXDVL�� SHQHOLWLDQ� GHQJDQ� MXGXO� ³(YDOXDVL� 6LVWHP

5HNUXWPHQ�GDQ�6HOHNVL�$HURWUDYHO�%UDQFK�2IILFH�-DNDUWD�3DGD�3HUXVDKDDQ�37�$HUR�*OREH�

,QGRQHVLD´�� PHPLOLNL� UXPXVDQ� PDVDODK� EDJDLPDQD� SURVHV� UHNUXWPHQ� GDQ� VHOHNVL�

NDU\DZDQ�\DQJ�GLODNXNDQ�GDQ�EDJDLPDQD�UHNRPHQGDVL�SHUEDLNDQ�SURVHV�UHNUXWPHQ�GDQ�

VHOHNVL� NDU\DZDQ�GL�$HURWUDYHO��7XMXDQ�SHQHOLWLDQ� LQL� DGDODK�XQWXN�PHQJHWDKXL� SURVHV�

UHNUXWPHQ� VHOHNVL�GDQ�PHQ\XVXQ�UHNRPHQGDVL�SHUEDLNDQ�SURVHV�UHNUXWPHQ�GDQ�VHOHNVL�GL�

$HURWUDYHO�

3HQHOLWLDQ� LQL� PHQJJXQDNDQ� PHWRGH� ZDZDQFDUD�� REVHUYDVL�� GDQ� VWXGL� SXVWDND��

$GDSXQ�VXPEHU�GDWD \DQJ�GLJXQDNDQ�DGDODK�GDWD�GDWD�SULPHU�GDQ�VHNXQGHU��'DWD�DNDQ�

GLDQDOLVD�GHQJDQ�PHWRGH�GHVNULSWLI�NXDOLWDWLI��

$HURWUDYHO�PHODNXNDQ�EHEHUDSD�SURVHV�GDODP�PHODNXNDQ�UHNUXWPHQ�GDQ�VHOHNVL��

DNDQ�WHWDSL�PDVLK�WHUGDSDW�SURVHV�\DQJ�WLGDN�GLODNXNDQ�ROHK�$HURWUDYHO��PDND�GLSHUOXNDQ�

UHNRPHQGDVL�SHUEDLNDQ�SURVHV�UHNUXWPHQ�GDQ�VHOHNVL�\DQJ�WHSDW GHQJDQ�PHPEDQGLQJNDQ�

SURVHV� UHNUXWPHQ� GDQ� VHOHNVL $HURWUDYHO� GLEDQGLQJ� GHQJDQ� WHRUL�� VHODQMXWQ\D� KDVLO�

SHUEDQGLQJDQ�DNDQ�PHQMDGL�DFXDQ�GDODP�SHQHQWXDQ�UHNRPHQGDVL�SHUEDLNDQ�
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